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log, (b-c)=log, b+log, c

log

a

(h)

\C

=log_b—log c

log b" =rlog b



17.17 10g3(x—2)+10g3(x+2)=log3(2x—1) 50

a)log3 ((x—Z)(x+2))=log3(2x—1) O03: <x+2>0

(x—2)(x 2):2x—1 (2x=1>0

X —4=2x-1 —1-2>0 3-2>0
_ 13+2>0

22y —3=0 «—=1+2>0

- 2.(-1)-1>0  (2:3-1>0

X =—1 nx L

_x=3

Omeen - 3 108, (b-c) =log b+log c



17.17 6) logll(x—|—4)—|—10g11(x—7)=1Og11(7—)€) Y +4>0

logll((x+4)(x—7))=10g11(7—x) Ol3: {x—-7>0

(x+4)(x=7)=T7-x T-x>0
x*—3x—-28=T7-x —54+4>0 (7+4>0
xt=2x-35=0 1—=5-7>0 s7=T7>0
_x:—S IMaKa k7_(_5)>0 \7_7>O

X="7 mx
Omeem KOpHEN HET log, (b ' C) =log,b+log,c



17.18 log23(2x—1)—10g23x=0 2x—1>0
O/I3: <
a) log,, (2x—1)=log,, x x>0
Pa3HOCTH NBYX BBIPAKECHUM paBHA

2x—1=x HYJFOy €CITH OHU PABHBI

x=1
2:1-1>0

Omeem . 1 <

1>0




1718 6) log0,5(4x—1)—log035(7x—3):1 {4x—1>0
[IpeoOpa3yeM 3aJaHHOE YpaBHEHUE K BUILY O/13: Tx=3>0
log, s (4x—1)=1+1log, s (7x—3) 1=log,,0,5
log, s (4x—1)=log,0,5+1og,(7x—3)
1 N _ 4-(-1)-1>0
0g,s(4x—1)=1log,;0,5(7x-3) <
7-(-1)=3>0
4x—1=0,5(7x-3) “
4x—-1=3,5x-1,5
0,5x=-0,5
x=-1 nx. log, (b-c)=1log,b+log, ¢

Omeem KOpHEN HET



17 19 a) log, (x x+5)+log2x_3:2 (x=3)( +5)>0

x+5

Ing(x—:S)N(;ij:z OI[3: <x—3>0

log, (x—3) =2

Peurenne 1ByX HEpABEHCTB OAUHAKOBO

2log, |x — 3‘ = (MeTon MHTEpBAIIOB):S

log, |x—3|=1 i O e O +0 X
v3=2 _5 1 3 5

x—3=2

_x_ :_2

- log, (b-c)=1log,b+log, c
“1 .. - "

E 1 mK Omeem lOgabz :2n-10ga ‘b‘



17.20 1g(x-1) -31g(x-3)=1g8
3a9x ~3lg(x-3)=1g8 |+3

lg(x—1)—Ig(x— 3)—~§lg8

1
lg(x—1)-1g(x-3)=1g8
]g(x—&)—lg(x—3):1g2

[IpeoOpa3zyem IOJy4YeHHOE YpaBHEHUE K BUIY
]g(x—l):lg2+lg(x—3)
lg(x—1)=1g2(x—3)

x—1=2x—-6

=5
r Omeem : 5

log, (b-c)=1log,b+log, c

log b =rlog b



17.21 log, (x3 —1)—10g2 (x2 +x+1):4

> — ¥ =1>0
1 )2 - L4 OJ13: -
X"+ x+1 X +x+1>0
(X_I)M f
log, =4 17°-1>0
e o | 4
17 +17+1>0
log, (x—1)=4 ‘

x—1=2° 7
x=17 log, (—j =log,b—log, c
C



1721 6) logo’5 (x6 —6x*+12x° —8)

x® —6x* +12x* —8=(0,5)"
x*—6x* +12x° —8 =38

x*—6x*+12x*-16=0
Myctb x°=1t, t >0

=6t +12t—-16=0

JI1s1 1anbHEHIIero peueHus ypaBHeHUs
BOCIIOJIb3yeMCsl cxemoun [ opHepa

=3 O/13s

x—6x* +12x* =8>0

log b=c<=a’

b



P —6t"+12t—-16=0

MNyctb x° =t t >0

16 1; 2; 4; 8; 16
p(l):13—6-12+12-1—16¢0

p(2)=2"-6-2+

2-2-16#0

p(4)=4-6-4+12-4-16=0

I

llyers

Il

il

o

b

(t—4)(F —2t+4)=0

t—4=0 t=4
1 -2t+4=0 | D=4-16<0

t =4 x2:4 x=%2
O/13:
x0—6x*+12x*—-8>0

2°-6-2"+12-2*-8>0
(-2)" =6-(-2)" +12:(=2)" =8> 0

Omeem : +2



